
 

813RE 813LB 

M6 x 45 DIN7380 

+ 817 + 123122006 
+ M6 DIN985 

 

M6 x 12  
DIN7991 

M6 x 30 DIN7380 

+ 816L 

+ 123121206 

M8 x 50 DIN 7991 

+ 123222608 
 

M8 x 20  

DIN7991 

 892 

 8300Z 

M8 x 30  

DIN6921 
 M8 x 30  
DIN6921 

 

 8470 

M8 x 20 DIN912 

 + 807Z 

818150  

 

CF MOTO 300 SR  
2022 –  

REVERSE SHIFTING 
Part Nr. 5180 

 

810R + 
M6 x 25 DIN7991 

 

 819M6R 

  

M8 x 20  

DIN912 
 + 807Z 

M8 x 25  

DIN7991 

M6 x 12  
DIN7991 

 893 

2 x M6 x 30  
DIN7380 + 

2 x M6 DIN985 


